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                 TIME: 2 HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER TWO QUESTIONS

Question One (30 Marks)
a)
A “cost-keeping system”, says a modern writer, “that simply records cost for the purposes of fixing sale prices has accomplished only a small part of its mission”.  Explain four (4) other functions which costing tends to achieve.


(5 Marks)
b)
PQR Ltd manufactures a special product, which requires “ZED”.  The following particulars were collected for the year 2013:

	· Monthly demand of “Zed”
	7,500 units

	· Cost of placing an order
	Ksh. 500

	· Re-order preriod
	5 – 8 weeks

	· Cost per unit
	Ksh. 60

	· Carrying cost as percentage p.a
	10%

	· Normal usage
	500 units per week

	· Minimum usage
	250 units per week

	· Maximum usage
	750 units per week



Required:

(i)
Re-order quantity






(3 Marks)


(ii)
Re-order level







(3 Marks)


(iii)
Minimum stock level






(3 Marks)


(iv)
Maximum stock level






(3 Marks)


(v)
Average stock level






(3 Marks)

c)
The followign information rrelates to XYZ Company.  The information relates to Mla Chake, use the information to determine his earnings.


(6 Marks)

· Standard time per piece

· Normal rate per hour (in a 8 hour day)

· Unit produced

d)
Explain, why Last In First Out (LIFO) has an edge over First In First Out (FIFO)












(4 Marks)

Question Two (20 Marks)
a)
In a given period the production data and cost for a process were:


Production 2,100 untis fully complete 


700 units partly complete


The degree of completion of the partly complete units was:

	Material
	80%
	Complete

	Labour
	60%
	Complete

	Overheads
	50%
	Complete



The cost for the period were:

	Material
	Ksh. 24,800

	Labour
	Ksh. 16,750

	Overhead
	Ksh. 36,200



Required:


Calculate the total equivalent production, cost per complete unit and value of W–I–P.












(8 Marks)

b)
Explain the following terms as used in standard costing:


(i)
Basic Standards






(3 Marks)


(ii)
Ideal Standards






(3 Marks)


(iii)
Current standards






(3 Marks)


(iv)
Practical standards






(3 Marks)

Question Three (20 Marks)
a)
The following details were extracted from standard cost card of a component:

Raw Materials


-2.82kgs @ Ksh. 4.80 kg


Direct Labour


Type I 6.5 Hrs @ Ksh.3.75


Type II 3.85 Hrs @ Ksh. 4.25


During a period actual results were as follows:


Production 1,100 components


Direct Material Purchase and usage


3,200kgs at a cost of Ksh. 15,100


Wages paid


Type I (7, 120 Hrs) Ksh. 27,056


Type II (4, 235) Ksh. 18,210


Required:


Calculate


(i)
Natural variances






(5 Marks)


(ii)
Labour variances






(5 Marks)

b)
List five (5) assumptions of C –V–P analysis.



(5 Marks)

c)
Assume a product has fixed cost of Ksh. 36,000 and CS ratio is expected to be 60%.


Required: 


(i)
Determine break-even point in sales value.



(3 Marks)


(ii)
Level of sales at which a profit of Ksh. 10,000 would be made.
(2 Marks)

Question Four (20 Marks)
a)
Discuss the difference between allocation and apportionment of overhead cost.











(3 Marks)

b)
Discuss behavioural classification of cost.




(8 Marks)

c)
Distinguish between financial accounting and cost accounting.

(5 Marks)

d)
State four (4) assumptions of Basic Economic Order Quantity.

(4 Marks)
Question Five (20 Marks)

a)
Explain four (4) advantages of standard costing.



(8 Marks)
b)
The following information relates to Mla Chake Company it has 3 departments:

	Particulars
	Total
	Production Dept
	Service Dept

	
	Ksh.
	A

Ksh.
	B

Ksh.
	C

Ksh.
	P

Ksh.
	Q

Ksh.

	Rent
	12,000
	2,400
	4,800
	2,000
	2,000
	800

	Electricity
	4,000
	800
	2,000
	500
	400
	300

	Indirect labour
	6,000
	1,200
	2,000
	1,000
	800
	1,000

	Depreciation
	5,000
	2,500
	1,600
	200
	500
	200

	Sundries
	4,500
	910
	2,143
	847
	300
	300

	Estimated
	31,500
	7,810
	12,543
	4,547
	4,000
	2,600

	Working hours
	-
	1,000
	2,500
	1,400
	
	


c)
Expenses of service departments P and Q apportioned under:
	
	A
	B
	C
	P
	Q

	P
	30%
	40%
	20%
	-
	10%

	Q
	10%
	20%
	50%
	20%
	-



Required:


Re-apportion overheads as under:


(i)
Repeated distributed method





(6 Marks)


(ii)
Simultaneous equation method




(6 Marks)
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